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O-K M X & | HEK % = it

001 | T & H Hr 511 567 660 1,227
002 | & K HI 608 703 761 1,464
003| £ &= H H 356 371 337 708
004 | & %  H 995 1,192 1,111 2,303
005 | X 33 T 746 912 960 1,872
006 | = & F B 1,338 1,806 1,708 3,514
007 | #i i T 181 258 212 470
008 | 5 4 Hr 845 1,003 1,114 2,117
009 [ K f& H 564 779 763 1,542
010 | & H i) 1,001 1,320 1,410 2,730
011 | £ & F Hr 658 820 849 1,669
012 | &  H 865 1,108 1,274 2,382
013 | 8k H i) 560 733 837 1,570
04| & ® H 886 1,111 1,181 2,292
015 | # B  H 121 163 186 349
061 | XEE—TH 52 53 21 74
062 | XFEHEZTBH 223 193 192 385
063| XEHE=TH 7 27 54 81
064 | XEHEMWTH 109 107 154 261
071 | &£%HAH—TH 37 29 42 71
072 | £FHFABIZTH 271 284 239 523

A

oK X F | HEK 5 = i
081 | M BT — T H 0 0 0 0
082 | ma BT — T H 25 827 34 861
083 AT =T H 168 193 215 408
091 | QLB —TH 86 87 109 196
092 | BT —TH 92 168 357 525
101 | P ET—TH 121 116 125 241
111 | FEHE—TH 115 113 126 239
112 | FSHEZTH 93 70 87 157
113 | FEHE=TH 141 131 138 269
114 | FHEHEMTH 90 100 109 209
115 | FEHEATH 141 107 161 268
116 | EFSHHEIATH 146 135 154 289
117 | FSHEETH 138 143 174 317
118 | EF&HHE/NTH 136 138 158 296
121 | EBFHE—TH 85 85 85 170
122 | EBFHIZTH 95 56 61 117
123 | EBFHEHI=TH 81 83 95 178
124 | EBFHIUTHE 77 74 66 140
125 | ERFHEATH 102 105 119 224
126 | EBFHEIATHE 153 124 148 272
127 | EBFHETH 145 101 167 268

a &t 13,124 16,495 16,753 33,248




